i
I
iy
Tl
P=ai
i

1. ¥4
kG4 SR6 - 7THEE Rkt RERERE RS
BT AT )N - R AR THET 7> & [R] T T 8P T 2

2. EHEAR

1) FHEI4 SREEEFEET FHE
2) AT 358 H H &% 6107 8H

AR TH 9A30H

3) PN

4) EBNE

- Etzz@y  AbkEt 5w R



FEH N

Tl
P=si

=
=

XG4 | BR6 - TARE B R-CRIE R IR A B REES
H H E R BRI AR A
THH - TR - R H AL % 4 %A E T N
TH BRI A A X 5,467, 710
1 PR BB AR A oy 5,467, 710
B R 2y 5,467,710 | EhiEiYE(i
t
B b kA
[=]
i DA BB H A
=
T /DN B SRR VR R
=
AR RS AR A
t
T i A SRR A
t
B Wil B O\ RHERL
S
TEREELEVE LD
S
Iim X 634, 200
M GREER) X 127, 200
Nl (e X 127,200 | Z\BHECR S ERL
E30
iE GRA - FHEEER) X 507, 000
e = 507,000 | ¥T&E
t
[ERE5 T X 229, 025

=R oS KN o723 S



it
T
iy
%lljll

=
=

¥EBL | A6 - TPk CREEREREEEES ER RETES
H H EERE
TEHA - LfE - R =AY VA # & A OB N AR
[ERS 3 =X 229, 025
ik AL E = 90, 025 | fifk# (it E - 15y0H)
1 K
%%Eﬁ%u%{?ﬁi% it: 139, 000 %%E}Z%Dﬁ%ﬁzﬁi%
1 K
EEFAM (2 OMFEMmER <) = 6, 330, 935
& DAt AT = 3, 253, 606
— i B = 5, 155, 459
SRR oy 14, 740, 000
-2 - E sz Jbkbe 75 R



